ol
T
Har
o

dal

= 4o o0

= Eooo

iy oo

F 00

= 90,00

F 3400

= o0

F 00

F 3000

F (000

F ¥0.00

FWoon

= 3000

¥ 3000

T 3400

= 40 o0

+= Eo.o0

= \gooo

= Q000

T o000

= 3000

]

F3R00

= 3000

F 00

F o0

= 40,00

T 4o oo

F ¥0.00

T §o.00

F §ly,00

+ E0.00

T .00

Ty 00

F 1500

= fgee

T 400

FIaLP

= 3ioo

gL oo

TRR40

F (L,00

T ¥l 00

=y 00

3400

300

F ¥o.00

T yly 00



HOwml=

e ez

ferg =
e it
o wm

FLEUGE 5-.'

T 3ooo0

=100

= iyoo

F iy oo

= ¥ooo

T 4000

= LoD

= Eooo

T 000

T Eoo0

T Eoo0

Fifoos

= Yo o0

T oo oo

T Eoo0

= {00 00

= Y000

oo oo

15,00

T oo

= 4ooo

T Eooo

F oo

Figooo

E {o0D

¥ igo oo

¥ \go oo

T Q0000

T 4o o0

F qieo00

¥ igo oo

F {9000

3400

el

T3

F 15 40

Tyl 00

T yly,00

19000

EHREE

F oy oo

Fay00

F o ED



il

Fel

+= Qo0 o0

= Yo oo

F Ko on

= lyo oo

¥ igo oo

13000

FEooo

F= oo

T lao oo

T+ Jooo

T ooo

= {goo0

= 7000

¥ Yo oo

T io00

=000

= {7000

T a0 oo

F 4o oo

= Eooo

T fooo

T 1gooo

Figooo

Figo oo

= Eooo

T 14,00

F o oo

= {7000

= {000

F o oo

T (e 00

+ o0 o0

FINRLe

=l 00

=y o0

F iyl o0

FBREE

FULEE

R

Fyy00

=L EL

=L EL

FHREE

=R EL

FREL)



i [al K1)
RG]
T EE

Bl
dal

dal

il

Fel

= £0.00

F Eooo

{3000

= 93000

T o oo

¥+ \go oo

T (e 00

=000

F¥ooo

= {000

T o 00

= ieo0

T Rgn oo

+= igo oo

=1%o 00

= io00

T %000

¥+ igo oo

T {000

= Fgooo

T Eoon

T £0.00

= ¥000

+ o0 o0

F 4o oo

= {3000

+== J00.00

= {3000

= 30000

= fooo

T Q000

F o0 00

LIRS

F 5,00

F 13400

F¥L00

F 00

= gE 5l

F 13000

FREL)

F YRGS

114,00

T gl 20

114,00

TRl 00

R

= MR RS

=I5



Al AT

-

BaEAlEEE

dal
el

)

F 7000

= Yoo

= Q00 00

= 30000

F {3000

F 70,00

= Io000

= R30.00

F 33000

F qie00

= Eoo0

¥+ {3000

F 3000

= 0 00

F oo

F=3000

F 13000

¥ oo oo

= 0 00

F 33000

F P¥o oo

= 0 00

F oo

= A0 00

F3uo00

T {7000

= igo oo

= ifooo

T Qg0 00

F o000

o0 oo

Fyo00

T IRNEEL

F el 00

T 300

F 3400

T 134,00

T 13590

334,00

F3u,00

F 33400

194,00

FELER

ERECAT

T 234,00

T 15400

AR

T 34,00



=
doal
@t
L |
Fial
il

dal

&l

g0 oo

= Yo oo

T Roon

F Eooo

= {000

=000

F= oo

= o oo

T Qg0 00

T o 00

T Qo 00

F= oo

F1yooo

F¥looo

F o oo

T a0 o0

Fiyooo

T 4o o0

Bl

¥+ igooo

T %000

+ o000

Figooo

= oo oo

= 30000

+= J00 .00

= 0000

¥+ \go oo

15000

T oo oo

F Eooo

= 5000

T o0

T g0

T Hlgl 00

Tl 00

T 3,20

F sl 00

= EEEE

F koo

F Yoo

F 00

iyl 00



T ATSIHETAn
T AT
TETHIC

Ea]
i
Ea
)
dral
L)
dal
ol
)
sl
G2
i
Ea
E]

il

T 4000

= Eoo0

= o oo

Faoo0

F 13000

F {000

F 5000

F 5000

= 30000

T o0 0o

F 35000

F 5000

= Yo oo

T e oo

F{ooo

T+ E000

= igo oo

+= Yoo oo

= qo0 oo

T Q30 00

o0 oo

FLooe

F o oe

F3spon

F 30,00

F Jgooo

= geoe

Ffooo

T Qg0 00

F 3000

F 364,00

T 4,00

¥ 1yooo

F o0

= igoon

= Fgoon

T 33u,00

¥ 1joo0

F3a400

FRau00

= Ro00

F W00

FLyo0



